
Local:

Data:Projeto:

Nome Proprietário:

Folha: Planta:

Responsável Técnico: ESCALACREA

ENGENHEIRO CIVIL

GLAUBER MARTINS

Relação do aço

P24 P25 P26

P27 P28

AÇO N DIAM

(mm)

QUANT

(Barras)

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 144 128 18432

2 5.0 288 39 11232

3 5.0 96 78 7488

4 5.0 34 24 816

CA50 5 10.0 40 VAR VAR

6 10.0 36 358 12888

7 10.0 36 197 7092

8 10.0 4 317 1268

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

5.0

250.9

379.7

170.1

64.4

PESO TOTAL

(kg)

CA50

CA60

170.1

64.4

Volume de concreto (C-25) = 2.52 m³

Área de forma = 33.6 m²
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